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N & 0 & e 4 Al
20148 & =04k LBHSIH XA AN
BEAYA
TEAYN LY S
sas=gdst
SA BB O () - NRAY - HES 0l &+ o4 il
- Xtz 1,368 x 110 x20L»6CH 18,058
— AR AT 71,3683 x 110 »22L» 120K 39,727
- FUHAY FHAHZ Y 7,500
=AM 250,000 128 3,000
OF& Ml E 125,000 *304 A+ 12& 4,500
OA& ZEHl R Xl 88, 191
- eI = X bl 100, 000& »24CH 2,400
-l R XS EH| 23,000& »67 CH 1,541
- S AYEH| 110,000& »20CH 2,200
-SHEE 350, 0002 = 1CH 350
- 1197 g2 X2 FHI 1,000,000& 1AMl E 1,000
-3 EdA, SIS 300,000 »70H 2,100
-S43 Xl 9,600
D8 IIX= 1,500, 000& *8= *6% 720
Ols,JUH= 1,000,000& *148= 6% 8,880
-8 EMdZ2R T 2L 300,000 x50 A& 1,500
- SHdHOE R 22 100, 000 *21CH 6% 126
—WEIs 2Ll 22,000,000 x6% 1,320
-2 AMAE ST 2el 232,033,330 *6% 13,922
— E AMCCTVR Rl &2l 5,000,000& *3JH 2~ 6% 900
-4 =R A4l 9,000
- M ALEHI R X2 5,782
- 1OMAE20|& HEHIE=
250,000 x50 A 1,250
- TOM AR EXEZ ZHE=
300,000 24 2 600
-1197 20 ZZ2eladsmx el 5,000
- EANELEA 23,600
- LTS AIERE 2L 500,000& x123| 6,000
204 XD Y| 298,200
03 SHYL Y| 298,200
ORx7R32SH| 100,000 *532 *122 63,600
Oogsest| 170,000& x115H 123 234,600
LYY RI e 184,861
201 LBH2E | 175,306
02 3322l 175,306
O322= & HA 31,106
- N3 XAl 470,000 +3CH*13] 1,410
-NsSkt EEE 24,906
- AEAHSZHAR 1,125
5401 & 25,0003 =19CH 23] 950
54 0] Bt 25,0003 +7CH*13l 175
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HE: NEAGAHAYSHA2TG
el ISR (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- Sy FLUHEESE =5 3,665
D IFACH2] R 1,128,000& = 1CH 1,128
=& 993,000 = 1CH 993
[ERTSN; 772,000 *2CH 1,544
O Xt &k Bty 144,200
-SEsE 4,300, 000& =2CH 8,600
-EgssE 6,900,000 «1CH 6,900
-SEsE 5,600, 000& =2CH 11,200
-AEGE 3,700,000 = 1CH 3,700
-S832 3,900,000& = 1CH 3,900
-UHEs2 7,300,000& =6LH 43,800
-2 xt 7,300,000& *5CH 36,500
--IOXxt 3,700,000& =8LH 29,600
405 Ko SHI 9,555 3,300 6,255
01 M =S FSHI 9,555 3,300 6,255
O2exte MIEIS 9,555
ABHAIRA 22,620 18,700 3,920
201 2yt 2 Y| 14,020 14,000 20
01 AR 22l ] 1,420 1,400 20
Ogbt=2H| 1,020
—=X4 0tz AL 1,020
ot &< 300,000& #2004 A 600
EER02 420
o994 400
—EXTAEA HAIRRASE
100, 000& 2 +x2M 22 400
03 S AI2 H H 12,600 12,600 0
OBtAHIH 0] Agrort™ Al 6,000
o1M9Ags2U3 5,000
(ORRICEN SRS 1,600
301 LBt A= 8,600 4,700 3,900
09 HAIAHIBAZ 7,000 2,700 4,300
Oagtold AL EILA S A 7,000& x150H 1,050
OBdtHIH 0] AgtotdM Al FILL 24
5,000& 180X 900
OFL119tE™ M E otatdiol 24!
5,000& 800X 4,000
O19agstsUa &IHA 34
7,000& x150H 1,050
11 IIEtE A2 1,600 2,000 A 400
OSTAEAL AlY EZT
100,000& 4L x4 2 2 1,600
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SN HELYA
Ha: NEAYMLYDS
e s (2 &HH)
- _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
OZ2Z2Q22 N A 3,840
-2 EgE = 32,000& x120H 3,840
O22ds Hae2s o= 4| 1,400
— XY AXE 100, 000 x7JH A %23 1,400
203 SR F & 2,000 2,000 0
03 AIZH =X 2= X H| 2,000 2,000 0
(@FEA=Ige K=y | 2,000
Agred g2t 195,475 116,825 78,650
HAFAIE A H| 97,000 45,000 52,000
401 Al HI L 20l 97,000 45,000 52,000
01 Al&H| 97,000 45,000 52,000
O2KN3E YA 20,000
O92AL =AM 20,000
OAgts A HAEX &X 18,000
onza &x 6,000
O&A Zagosasttth 23210 & 20,000
OO0IEXNE EAMASAEEY 13,000
LgELAlE 2L 30,200 29,150 1,050
201 et 9| 2,200 2,150 50
02 222%4| 2,200 2,150 50
OA&ZHI KXYl 2,200
—Agt=E L 20,000 %2200 A x1/2 2,200
401 Al HI L £ 0HHI 28,000 27,000 1,000
01 Al& B 28,000 27,000 1,000
OAastd i d 8,000
Oastd B4 10,000
OALSINH BESE 2,500
AstE4 EXE 2,500
OHdl A ASHAX AX 5,000
A A ES 68,275 42,675 25,600
206 M = dl 29,725 32,925 A 3,200
01 K24l 29,725 32,925 ~3,200
O3 & 2F A 3F 2 -l 1,100,000 x10&= & 11,000
OogtAdg S0t A 3 200,000 =104 2,000
O%stzs 15,0002 x40 L 600
oMoz 2x A= 20,000 x50 523 5,200
O3 dAEH 15,000& *5CH x7 3] 525
o192 SSHXNES 6,000
O3y =3¢E 50,000 *10H 500




2N DHAYA
HE: NEAGAHAYSHA2TG
Chel: Ay eEH)
SAH-EB. S (3H) - HEAY - BE2 ﬁlf& HDS2
o0 & FIOIME 80,000& *5AM E 400
OY&EMA A2F 5,000& *400H 2,000
OFIHA THHAE 22 1,500
405 XH&HF S HI 38,550 9,750 28,800
01 AL 2B F SHI 38,550 9,750 28,800
O3 & 2H & H| 5,550
—AgSA 87,500 x120H x32 3,150
- & 200,000 =12CH =14 2,400
oddzs=ZaA 3,000,000 = 1CH 3,000
O0lsg sgadtgo 8,000,000& = 1CH 8,000
Oogst= MEI ¥ HXD| 22,000,000& * 14! 22,000
HESHAL (A AA) ,480,347 6,112,093 368,254
ol 23| ,250,647 5,879,988 370,659
ol 2A | ,250,647 5,879,988 370,659
101 2124 d| 6,061,647 5,696,088 365,559
01 2= 6,061,647 5,696,088 365,559
os3 3,612,284
- A8 3,612,284
AEH 4,937,6003 x1H x12& 59,252
== 3,934,067 & x3H x12& 141,627
A8H 3,452,611 & *9Y x12& 372,882
A=l 3,167,216 24H x12& 912,159
- BE 2,748 ,4823 x34H x12& , 121,381
Eny=lami 1,998,565 x26H x 12& 623,553
A BEAL 1,672,937& x19Y8 x12& 381,430
o&dza+¢Y 271,601
Oxh22E ,068,738
- AN2HA22E 691,289
- 02224 236,944
-2 140,505
O&dH+H 480,551
-IExY 90,720
i < Xt 40,0003 *81H x12& 38,880
AAHl = 20,000& *191H x12& 45,840
ohar2 6,000
-NMEEHEX+S 37,509
DESW(IZX) 433,880& *199H «4 3] 32,975
DNEsW(22X) 377,790 *3H *43] 4,534
- RO 1,721,000& *»2H x40%x 122 16,522
-d24ora2 114,600
254 0] &f 130,000& *23H x12& 35,880
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SN AEAYA
B AHSAAL (HNHALA)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- 20~25E 0] Bt 110,000 33 x12& 43,560
- 15~20 O] Bt 80,000& x9H x12& 8,640
- 10~154 0] B¢ 60,0002 16 =128 11,520
- 5~10E 0] 8+ 50,0003 25H x12& 15,000
-E22+E 69,600
=45 50,000& *116H x12& 69,600
-—HIRAYRLE 40,000& 1 =128 480
-AARLE 30,0003 x3H x12& 1,080
— St &S =& 80,000& x116H x12& 111,360
-HRERAFY 32,147
-&2gRE 4,937,600 *9%*1H x12& 5,333
-QEHIRALY 50,0003 x2H x12& 1,200
O&FHZAHI 130,000& x116H »12& 180,960
(@)=FSE=)¥:] 3,612,209,000& /128 60%*23] 361,221
OHItEAaHl  3,612,209,0002 *86%/12/30*10 86,292
204 X2 =2 F H| 189,000 183,900 5,100
02 =282 x4 189,000 183,900 5,100
(@FE=$S 400,000 x1H x12& 4,800
(OFE=10= 250,000& x3H x12& 9,000
(OFE=" > I 155,000& 33 x12& 61,380
Oags 140,000 »34H x12& 57,120
OAagm, At 105,000& 45H x12& 56,700
o=l 229,700 232,105 A 2,405
Jl23Hl 229,700 232,105 N 2,405
201 Bt A | 92,740 92,305 435
01 AP 22l Yl 90,340 88,705 1,635
OJl2+8tl 15,240
ozg=sY 51,100
-ga8Y 51,100
(OPIE=S=2=3:] 24,000
02 352494l 2,400 3,600 A 1,200
O332=2 2 HA 2,400
- REYSS 200,000& x12& 2,400
202 04| 66,720 63,940 2,780
01 2LH0HI 66,720 63,940 2,780
OJ120 bl 66,720
203 ¥R =&H| 37,740 37,710 30
01 J|22HLR=AH| 8,300 8,300 0
O MNE 4,400
OOorM I E & 1,300,000& *3Y 3,900




SN HELYA
M HHS AR (HHAYA)
chelr D123l
% 8 - 1
M- B8-S (3H) - HRAY - BES e
02 It =& 4,480
(OFSE- PN W RSESS. 4,480
04 RENSELR=LH| 24,960
Oxgdd 53X S, IR
250, 0003 *404 A 128 12,000
OZolld , GaotMElE 350,000 200 A +128 8,400
Osgetduy 380,000 «1JH A 12 4,560
204 HR=HAH| 13,200
01 MR I 13,200
OLgAHE 400,000 «1H 128 4,800
oz 100,000 x3H «12& 3,600
OEEH, 2EUE 100,000& x4 H 122 4,800
405 XHoHF S HI 19,300
01 XL 2 ZFH S| 19,300
oMz 74 1,300,000 = 11CH 14,300
OLES 1,500,000& »2CH 3,000
OgaAELED 2,000,000 = 1CH 2,000
X S(AALEAM) 127,200
A= 127,200
FADNES 127,200
311 Xt S0l A&t 7,200
05 JIEFXHS 3 O R &f & 7,200
OTFELEN M= 7,200
601 XtL S A& & 120,000
05 JIEt =Y S S 4 E 120,000
OdEALHAN A= 120,000




